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Roll No. ...................................  

DD–2005 

B. Com. (Part I) EXAMINATION, 2020 

(Group—II : Compulsory) 

Paper First 

BUSINESS MATHEMATICS 

Time : Three Hours 

Maximum Marks : 75 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    
(UNIT—1) 

1- ¼v½ fuEufyf[kr lehdj.kksa dks foyksiu fof/k ls gy dhft, %  

        5 

5x + 2y = 22 

   x – y = 3 

Solve the following equations by elimination method : 

5x + 2y = 22 

   x – y = 3 
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¼c½ fuEufyf[kr lehdj.kksa dks otzxq.ku fof/k ¼Øsej fof/k½ ls 

gy dhft, % 10 

4x + 5y = 14 

   3x – 7y = –11 

Solve the following equations using the method of 

cross-multiplication (Cramer’s method) : 

 4x + 5y = 14 

   3x – 7y = –11 

vFkokvFkokvFkokvFkok    

(Or) 

fuEufyf[kr js[kh; izØeu leL;k dks xzkQh; fof/k ls gy 

dhft, %   15 

U;wure % 

z = x + 3y 

tcfd % 

  5x y+ ≤   

2 4x y+ ≥  

5 5x y+ ≥
 

        3x ≤          

       3y ≤  

rFkk                           , 0x y ≥ . 

Solve the following LPP by graphical method : 

Minimize :  

z = x + 3y 
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such that : 

  5x y+ ≤   

2 4x y+ ≥  

5 5x y+ ≥  

        3x ≤  

       3y ≤  

and                                 , 0x y ≥  . 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- ¼v½ fuEufyf[kr lkjf.kd dk eku Kkr dhft, % 5 
1 4 7

2 5 8

3 6 9

  

Evaluate the following determinant : 

1 4 7

2 5 8

3 6 9

 

¼c½ lR;kfir dhft, % 10 
(AB) B A′ ′ ′=  

tcfd % 
1 2 1

A 3 4 2

1 0 2

 
 =  
  

 

       

10 4 1

B 11 5 0

9 5 1

− − 
 = − 
 − − 

   

Verify that : 

(AB) B A′ ′ ′=  
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when : 

1 2 1

A 3 4 2

1 0 2

 
 =  
  

 

       

10 4 1

B 11 5 0

9 5 1

− − 
 = − 
 − − 

   

vFkokvFkokvFkokvFkok    

(Or) 

y?kqx.kd lkj.kh dh lgk;rk ls eku Kkr dhft, % 15 

3 1/3

2 1/4

(6.45) (0.00034)

(9.37) (8.93)

×

×
  

Find the value with the help of logarithm tables : 

3 1/3

2 1/4

(6.45) (0.00034)

(9.37) (8.93)

×

×
. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- ¼v½ ` 2,500 dk 5% okf”kZd dh nj ls 10 tuojh] 2019 ls 

15 uoEcj] 2019 rd dk lk/kkj.k C;kt Kkr dhft,A  7 

Find the simple interest on ` 2,500 at 5% p.a. for the 

period from 10 January, 2019 to 15 November, 

2019. 
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¼c½ ` 5,000 dk 6% okf”kZd dh nj ls 1
2

4  o”kZ dk pØo`f) 

C;kt Kkr dhft,] ;fn C;kt dh x.kuk v)Zokf”kZd dh 

tkrh gSA  8 

Find the compound interest on 5,000 @ 6% p.a. for 

1
2

4  years, if interest is calculated half-yearly. 

vFkokvFkokvFkokvFkok    

(Or) 

,d O;fDr us ,d Vh- oh- [kjhnus ds fy, ` 8,000 dk _.k 

fy;k rFkk ewy/ku vkSj pØo`f) C;kt dk Hkqxrku 5.2% okf”kZd 

dh nj ls 3 o”kZ ckn ykSVkus ds fy, lger gks x;kA mlus 

Vh- oh- ` 9,528 eas csp fn;k ftldk Hkqxrku 3 o”kZ ckn ns; gSA 

rhu o”kZ ckn mldk ykHk ;k gkfu dk izfr’kr Kkr dhft,A 15 

A person took a loan of ` 8,000 for buying a TV. He 

agreed to pay the principal and compound interest @ 

5.2% p. a. after three years. He sold the TV in ` 9,528 

payment of which is payable after three years. Find his 

profit or loss percent after three years. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- ¼v½ 72.90 yhVj ds feJ.k esa nw/k vkSj ikuh dk vuqikr 7 : 2 

gSA feJ.k esa fdruk vkSj ikuh feyk;k tk;s fd nw/k vkSj 

ikuh dk vuqikr 7 : 3 gks tk;s \ 5 

72.90 litre of a mixture contains milk and water in 

the ratio of 7 : 2. How much more water must be 

added to this mixture so that the ratio of the milk 

and water may be 7 : 3 ? 
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¼c½ ,d 250 xt yEch] 24 QhV Å¡ph vkSj 6 QhV pkSM+h 

nhokj ds fuekZ.k esa 72 vkneh izfrfnu 8 ?kaVs dke djrs 

gSaA crkb;s ,d nwljk dk;Z ftlesa 275 xt yEch] 25 

QhV Å¡ph vkSj 9 QhV pkSM+h nhokj cukuh gS vkSj Jfed 

izfrfnu 9 ?kaVs dke djrs gSa rks fdrus Jfedksa dh 

vko’;drk gksxh ;fn dke igys ftrus le; eas gh iwjk 

djuk gks \ 10 

It took 72 men working 8 hours a day to construct a 

wall 250 yard long, 24 feet high and 6 feet wide. 

How many men should be engaged to fulfil a 

contract for constructing a wall 275 yard long, 

25 feet high and 9 feet wide ? If they are to work 

9 hours a day and finish the work in the same time 

as the past. 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ ,d Nk= viuh /kujkf’k 30% O;; djrk gS vkSj vc 
mlds ikl ` 21 cpsA mldh /kujkf’k crkb,A  5 

A student expends 30% of his money and saves 

` 21. Find his amount.  

¼c½ ,d d{kk esa 40 Nk=ksa dh vkSlr vk;q 16 o”kZ FkhA 5 Nk=ksa 
dh vkSlr vk;q 14.8 o”kZ Fkh] tks fd d{kk NksM+dj pys 
x;s ,oa 3 Nk= ftudh vk;q Øe’k% 24, 17.5 ,oa 19.5 
o”kZ gS] u;s izfo”V gq,A d{kk dh vkSlr vk;q crkb,A  10 

In a class of 40 students the average age is 16 years. 

5 students of average age of 14.8 years left the class 

and 3 new students of 24, 17.5 and 19.5 years 

respectively were admitted. Find average age of the 

class.  
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- ¼v½ ;fn ipkl oLrqvksa dk Ø; ewY; pkyhl oLrqvksa ds foØ; 
ewY; ds cjkcj gks] rks ykHk ;k gkfu dk izfr’kr Kkr 
dhft,A       5 
If the purchased price of 50 articles and selling price 

of 40 articles are the same, calculate the percentage 

profit or loss.   

¼c½ lq/khj ,d edku nyky ds ek/;e ls 3% nykyh nsdj 
dqy ` 7,00,000 esa [kjhnrk gS vkSj rqjUr 3% ykHk ij 
csp nsrk gSA crkb;s fd % 10 
(i) nyky dks fdruh nykyh feyh \ 
(ii) edku cspus okys dks fdrus #i;s izkIr gq, \ 
(iii) lq/khj dks fdruk ykHk feyk \ 
Sudhir purchased a house for ` 7,00,000 in all 

through a broker by giving 3% brokerage and 

immediately was sold by him at a profit of 3%. Find : 

(i) The commission of the broker.  

(ii) The amount received by the house seller.  

(iii) The amount gained by Sudhir.   

vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr ifjogu leL;k dks oksfxy lfUudV fof/k ls gy 
dhft, %   15 

os;jgkml 
ls 

cktkj ¼dks½ 
iwfrZ 

1M   2M  3M  4M  

1W   2 2 2 1 3 

2W  10 8 5 4 7 

3W  7 6 6 8 5 

ek¡x 4 3 4 4 15 
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Find the following transportation problem by Vogel’s 

approximation method : 

Warehouse 

(from) 

Market (to) 
Supply 

1M   2M  3M  4M  

1W   2 2 2 1 3 

2W  10 8 5 4 7 

3W  7 6 6 8 5 

Demand 4 3 4 4 15 
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